
Disconnect power to the Fan before beginning installation.

Remove the Fan Screen or Shutter if applicable. Remove the V-Belt (Item 1, Figure 1) and throw it away. Take the 
Motor off by removing four Flange Nuts and Carriage Bolts (Items 2 and 3, Figure 2). Keep the Flange Nuts and 
Carriage Bolts for Re-installation of the motor to the new Z-Bracket. Remove the Z-Bracket (Item 4, Figure 3) by 
removing four Lock Nuts and Carriage Bolts (Items 4 and 3, Figure 3). Keep the four Carriage Bolts for installing 
the new Z-Bracket and discard the four Lock Nuts. Chore-Time recommends that you replace the Lock Nuts with 
new Flange Nuts.

Installation

Vanguard™  Fan Retro-Fit
Installation Manual

Figure 1.  Remove V-Belt

Item Description
1 V-Belt
2 Flange Nut
3 Carriage Bolt
4 Lock Nut
5 Z-Bracket

31

32

32

Figure 2.  Remove Motor

Figure 3.  Remove Z Bracket

33

34

35

33

33

34

33

MV2305AMarch 2007



Installation Installation Manual

2 MV2305A

Line up the single Mark on the innermost ring of the Tensioner (Item 1, Figure 4) with the Etched line that 
is on the Tensioner Bracket (Item 2) and attach the Tensioner (Item 3) to the Tensioner Bracket (Item 4) 
with the supplied 3/8 x 16 x .75 Bolt (Item 5) and Washer (Item 6). 

Attach the new Z-Bracket (Item 1, Figure 5) to the right Motor Mount Post (Item 2) with two of the 
Carriage Bolts (Item 3) and Flange Nuts (Item 4) that were used to attach the old Z-Bracket. Note: Use the 
upper two holes in the Post. Attach the Tensioner Bracket (Item 5) and the new Z-Bracket to the Left Motor 
Mount Post (Item 6) with the other two Carriage Bolts and Flange Nuts that were used to attach the old Z-
Bracket as shown.

Attach the Motor (Item 1, Figure 6) to the new Z-Bracket (Item 2) with the Carriage Bolts (Item 3) and 
Flange Nuts (Item 4) that were removed earlier.

Figure 4.  Attaching Tensioner to Tensioner Bracket

36

35
3231

33

34

Item Description
1 Tensioner
2 Etched Line on the Tensioner Bracket
3 Tensioner
4 Tensioner Bracket
5 3/8 x 16 x .75 Bolt
6 Washer

31

3233

34

34

35

36

33

Item Description
1 New Z-Bracket
2 Right Motor Mount Post
3 Carriage Bolt
4 Flange Nut
5 Tensioner Bracket
6 Left Motor Mount Post

Figure 5.  Attaching the Z-Bracket and Tensioner

Figure 6.  Attach Motor to new Z-Bracket

Item Description
1 Motor
2 New Z-Bracket
3 Carriage Bolt (Removed earlier)
4 Flange Nut (Removed earlier)

34

33

31

32



Installation Manual Installation

MV2305A 3

Check to make sure that the Motor Pulley (Item 1, Figure 7), the Tensioner Pulley (Item 2), and the Driven
Pulley (Item 3) are all aligned. Do this by measuring from the Motor Mount Post as shown.

Install a new Belt (Item 1, Figure 8) as shown below in Figure 8. See Table 1 below for the correct Belt for 
the most common Pulley combinations. When the Belt is installed, the etched mark on the Tensioner Bracket 
(Item 2, Figure 9) should line up with the 3rd mark on the outer part of the Pulley Bracket (See Figure 9). 

Re-install the Shutter, turn on the power, and test run the Fan.

Eq
ua

l D
is

ta
nc

e

Figure 7.  Pulley Alignment

Item Description
1 Motor Pulley
2 Tensioner Pulley
3 Driven Pulley

32

33

31

3rd Mark

32

Item Description
1 New Belt
2 Etched Mark

31

Figure 8.  Installing new Belt

Figure 9.  Correct Tensioner position

Table 1. Belt Type for Pulley Combinations
Motor Pulley Driven Pulley Belt

AK28 AK84 AX51
AK30 AK94 AX53



Part Numbers Installation Manual

4 MV2305A

Note:  The original, authoritative version of this manual is the [English] version produced by CTB, Inc. or any of its 
subsidiaries or divisions, (hereafter collectively referred to as "CTB").  Subsequent changes to any manual made by any third 
party have not been reviewed nor authenticated by CTB.  Such changes may include, but are not limited to, translation into 
languages other than [English], and additions to or deletions from the original content.  CTB disclaims responsibility for any 
and all damages, injuries, warranty claims and/or any other claims associated with such changes, inasmuch as such changes 
result in content that is different from the authoritative CTB-published [English] version of the manual.  For current product 
installation and operation information, please contact the customer service and/or technical service departments of the 
appropriate CTB subsidiary or division. Should you observe any questionable content in any manual, please notify CTB 
immediately in writing to:  CTB Legal Department, P.O. Box 2000, Milford, IN 46542-2000 USA.

Revisions to this Manual
Page No. Description of Change

New Manual

Contact your nearby Chore-Time distributor or representative for additional parts and information.

CTB Inc.
P.O. Box 2000 • Milford, Indiana 46542-2000 • U.S.A.

Phone (574) 658-4101 • Fax (877) 730-8825
E-Mail: ctb@ctbinc.com • Internet: http//www.ctbinc.com

Printed in the U.S.A.

Part Numbers

Item Description Part Number
1 Z-Bracket 50840
2 Tensioner Bracket 50841
3 Tensioner 48429
4 3/8 x 16 x .75 Bolt 39-20414
5 Lock Washer 5747
6 Belt (Not Shown) See Table 1 (page 3)
7 5/16 Flange Nut 8490

34

3531
32

33

Figure 10.  Part Numbers position

37


